## Annexure-E2

	ABSTRACT STATEMEN	T OF ELECTION EXPENSES
	PA	RT-I
prompt pr	Name of the Candidate Number and name of Constituency	Sh./Smt./ Km. Junmoni Devi Khaun de NO.7, Gaustati Constituency
Promotion of the Control of the Cont	Name of State/Union Territory	Assam
V	Nature of Election (Please mention whether General Election to State Assembly / Lok Sabha / Bye- election)	Lok Sabha
V	Date of declaration of result	
VI	Name and Address of the Election Agent	Scernanth Kakati, House NO. 18
/11	If candidate is set up by a political party, Please mention the name of the political party	Independent
/III	Whether the party is a recognised political party	Xes/No

Date:

Place:

Signature of the Candidate

Name:

	PART-II: ABSTRACT OF STATEMEN	T OF ELECT	TION EXPE	NDITURE O	F CANDIDATE
S. No.	Particulars 2	Amt. Incurred / Auth. by Candidate/ Election agent(in Rs.)	Amt. Incurred/ authorized by Pol. Party (in Rs.)	Amt, Incurred / authorized by others (in Rs.)	Total Election expenditure (3)+(4)+(5)
	Expenses in public meeting, rally, procession etc.:-	3	4	5	6
	etc. (ie: other than the ones with Star Campaigners of the Political party (Enclose as per Schedule-1)  L.b: Expenditure in public meeting rathy	1744597.92	NIL	NIL	17,44,597,92
	procession etc. with the Star Campaigner(s) (ie: other than those for general party propaganda) (Enclose as per Schedule-2) Campaign materials other than those used in the	NIL	NIL	NIC	NIC
1	public meeting, rally, procession etc. mentioned in S.No. I above (Enclose as per Schedule-3)	NIL	NIL	NIL	MIL

					1
	Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media (Euclose as per Schedule-4).	3,8,000,0	NIL	NIC	3,18,000.0
	Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5)	582370.0	NIL	NIC	5,82,370.0
γ.	Expenses of campaign workers / agents (Enclose as per Schedule -6)	45,000.0	NIC	NIC	48,000.00
VI	Any other campaign expenditure				
V man	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)*	NIL	NIL	NIC	NIL
	Grand Total				A669 M3

# PART III 1 ABSTRACT OF SOURCE OF FUNDS RAISED BY CANDIDATE

5 No	Particulars	Amount (in Rs.)
1	2	3
1	Amount of own fund used for the election campaign (Enclose as per Schedule - 7)	NIC
	Lump sum amount received from the party (ies) in cash or cheque etc. (Enclose as per Schedule -8)	NIC
[]]	Lump sum amount received from any person/ company/ firm/ associations / body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule -9)	25,00,000.0
	Total	25,00,000.0



Schedules- 1 to 9: Details of Elections Funds and Expenditure of Candidate

	ule- 1							
	ses in public meeting, rally, procession etc. (ie: other the		Campaigners of the	Political party				
S. No	Nature of Expenditure	Total Amount in Rs.	Source of Expenditu	Source of Expenditure				
		III ASS.	Amt. incurred / Auth. by Candidate / agent	Amt. incurred / by Pol. Party with name	Amt. incurred by others			
ļ	2	3	4	5	6			
Ī	Vehicles for transporting visitors	NIL	NIL		_			
2	Erecting Stage, Pandal & Furniture, Fixtures, poles etc.	63,075,0	63,075.00					
3	Arches & Barricades etc.	NPL	NIC					
4	Flowers/ garlands	12,000.0	12,000.0					
5	Hiring Loud speakers, Microphone, amplifiers, comparers etc.	3,56,500.	356500.6	_				
6	Posters, hand bills, pamphlets, Banners, Cut-outs, hoardings	6,73,504.0	6,73,504.00					
7	Beverages like tea, Water, cold drink, juice etc.	12,500.00	12,500.0		-			
3	Digital TV –boards display, Projector display, tickers boards, 3D display	48,000.0	48000.0	and the second s				
9	Expenses on celebrities, payment to musicians, other artists remuneration etc.	NIL	NIC					
10	Illumination items like serial lights, boards etc.	NIC .	NIL					
property property of the prope	Expenses on transport, Helicopter/aircraft / vehicles/boats etc. charges (for self, celebrity or any other campaigner other than Star Campaigner)	2,52,500.0	2,52,500.00					
12	Power consumption/ generator charges	1,800.0	1,800.00					
13	Rent for venue	30,000.0	30,000.0	CONTRACTOR SECTION SEC				
14	Guards & security charges	NIL	NIC					
15	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner	NIL	MIL					
16	Others expenses	2,94,718.92	2,94,718.92					
and the same of th	Total		17,44,597.92					

## Schedule- 2 Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party propaganda) Date and Amount of Expenditure on public meeting rally, procession etc. with the sar Campaigner(s) Name of the Star Campaigner(s) & Remarks, if any Venue Name of Party apportioned to the candidate (As other than for general party propaganda) in Rs. 3 5 Source of Expenditure Amount by Candidate/Age Amount by Amount by Political Party Others Schedule-3 Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule- 1 & 2) S. No. | Nature of Expenses Total Amount in Sources of Expenditure Remarks, if any Rs. Amt. By Amt. By Pol. Amt. By others candidate / Party agent 5 6

Jan Os Bon

## Schedule- 4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

S. No	Nature of medium	Name and address of media provider (print	Name and address of agency, reporter, stringer, company or	Total Amount	Sources of Exp	enditure	**************************************
	(electronic / print) and duration	/electronic /SMS / voice/ cable TV, social media etc.)	any person to whom charges / commission etc. paid/ payable, if any	in Rs. Col. (3) +(4)	Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others
į	2	3	4	5	6	7	8
ì	Television 760Secs.	News 18 North East Ganesh quei, Ghy-05		90,000.00	90,000.00		
2	7 elevision	A.M. Television P.+ Ltd. Chushoi, Ghy-07		1,18,000-00	1, 18,000.0		
3	Newspaper 825 Sq. Cm	P) 42. Ghy -781006		80,000.00	80,000.0		
4	News paper	Prosteden, G.S. Row Ulubasi, Gly -731007		30,000.00	30,000.0		
Total				3,18,000.0	3,18,000.0		particle to the state of the st

## Schedule-4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

S. No	Nature of medium	Name and address of media provider (print	Name and address of agency, reporter, stringer,	Total Amount in Rs.	Sources of Expenditure			
and the state of t	(electronic / print) and duration	/electronic /SMS / voice/ cable TV, social media etc.)	company or any person to whom charges / commission etc. paid/ payable, if any	Col. (3) +(4)	Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others	
	2	3	4.	5	6	7	8	
			~	***************************************				
7					P			
The second secon	only of these will shill a president migrating more as an ophishis according to a common security.						procedure of the same of the s	
Lotal							CONTRACTOR OF THE PROPERTY OF	

## Schedule - 5

Details of expenditure on campaign vehicle (s) and poll expenditure on vehicle(s) for candidate's election campaign

		Н	iring Charges of v	ehicle			Sources of	Expendi	ture
SL No.	Vehicle Number	Rate for hiring of vehicle/mai ntenance	Fuel (If not covered under hiring)	Driver (If not covered under hiring)	No. of Days for which used	Total amount incurred/auth in Rs.	Amount by candidate/agen	Amount	Amount by Others
1	AS15C7883	1,190.00	-	-	14	16,660.00			
2	AS01FC8637	1,680.00	-		14	23,520,00	16,660.00	-	-
3	AS25C5700	1,290.00			14		23,520.00	-	-
4	AS01DD1550	1,680.00	-		14	18,060.00	18,060.00	-	-
5	AS01HC5285	1,140.00	_		15	23,520.00	23,520.00	-	-
6	AS01JC3661	1,630.00	-	-	15	17,100.00	17,100.00	-	-:
7	AS01AQ7578	1,630,00				24,450.00	24,450.00	-	
8	JH12D2937	2,980.00		-	15	24,450.00	24,450.00	-	-
9	AS01DC9840	2,830.00	-	-	15	44,700.00	44,700.00	~	-
10	AS01AC3046	1,190.00		-	15	42,450.00	42,450.00	-	-
11	AS01DT7763	500.00	-	-	14	16,660.00	16,660.00	-	-
12	ASO1DT 7549	2,180.00	-	-	14	7,000.00	7,000.00	-	-
13	AS01EC1641	2,880.00	-	-	14	30,520.00	30,520.00	-	-
14	AS01BC1041		-	-	12	34,560.00	34,560.00	- 1	-
15	AS01BIA108	2,130.00	-	-	12	25,560.00	25,560.00	-	-
16		3,220.00	-	- 1	12	38,640.00	38,640.00	-	-
17	AS015C7068	1,680.00	-	-	11	18,480.00	18,480.00	-	-
18	AS25DC7137	1,680.00	-	-	11	18,480.00	18,480.00	-	-
19	AS07N4148	2,280.00	-	-	- 11	25,080.00	25,080.00	-	
	AS01FC8541	1,680.00	-	-	11	18,480.00	18,480,00		
20	AS25BC5598	1,680.00	-	-	11	18,480.00	18,480,00	-	
21	AS01JC5909	1,680.00	-	- 1	10	16,800.00	16,800.00		-
22	AS25DC3016	2,230.00		-	8	17,840.00	17,840.00		
23	AS25DC3468	4,190.00	-	-	8	33,520.00	33,520.00	-	-
24	AS01DG4694	2,010.00	-	-	8	16,080.00		-	-
25	AS01HC2189	1,880.00	-	-	6	11,280.00	16,080.00	-	-
1	l'otal					582,370.00	11,280.00	-	-

Schedule - 6

Details of expenditure on Campaign workers/agents and on candidates' booths (kiosks) outside polling stations for distribution of voter's slips

	1	*	Expense	s on Campaign	workers		Sources of	Expendi	ture
Sl. No.	. Date	Name of Venue	Nature of Expenses	Rate	No. of Workers/agents No. of kiosks	Total amount incurred/auth in Rs.	Amount by candidate/agen	Amount	T
1	23.04.2019	Dudhnoi	Campaign workers honorarium/salar	500.00	2	1,000.00	1,000.00	-	-
2	23.04.2019	Boko	Campaign workers honorarium/salar	500.00	1	500.00	500.00	-	-
3	23.04.2019	Palashbari	Campaign	500.00	2	1,000.00	1,000.00	-	-
4	23.04.2019	Chaygaon	Campaign workers honorarium/salar	500.00	2	1,000.00	1,000.00	-	-
5	23.04.2019	Најо	Campaign workers honorarium/salar	500.00	4	2,000.00	2,000.00	5	-
6	23.04.2019	Santipur	Campaign workers honorarium/salar	500.00	4	2,000.00	2,000.00	-	-
7	23.04.2019	Dispur	Campaign workers honorarium/salar	500.00	5	2,500.00	2,500.00	-	-
8	23.04.2019	East Guwahati	Campaign workers honorarium/salar	500.00	5	2,500.00	2,500.00	-	-
9	23.04.2019	West Guwahati	Campaign workers honorarium/salar	500.00	5	2,500.00	2,500.00	-	- 4
10	23.05.2019	Dudhnoi	Campaign workers honorarium/salar	600.00	5	3,000.00	3,000.00	-	1-
11	23.05.2019	Boko	Campaign workers honorarium/salar	600.00	1	600.00	600.00	-	-
12	23.05.2019		Campaign workers honorarium/salar	600.00	3	1,800.00	1,800.00	-	-
13	23.05.2019	Chaygaon	Campaign workers honorarium/salar	600.00	3	1,800.00	1,800.00	-	-
14	23.05.2019	Hajo	Campaign workers honorarium/salar	600.00	6	3,600.00	3,600.00	-	-
15	23.05.2019	Santipur	Campaign workers honorarium/salar	600.00	4	2,400.00	2,400.00	-	-
16	23.05.2019	Dispur	Campaign workers honorarium/salar	600.00	12	7,200.00	7,200.00	-	-
17	23.05.2019	East	Campaign workers nonorarium/salar	600.00	7	4,200.00	4,200.00	-	-
18	23.05.2019	West	Campaign workers nonorarium/salar	600.00	9	5,400.00	5,400.00	-	-
Т	'otal					45,000.00	45,000,00	_	



Deta	ils of Amount of	Own find	The state of the s		***************************************						
	01	own fulld us	ed for the elec	ction car	mpaign		- Andrews			***************************************	
S. No	). Date	Cash	and which the transfer the virtual transfer that the province of the second second second second second second	DD	V Cheque	00 etc 1	with details of	la .		<del></del>	
1	and the state of t	3		uray	vee bank			lotal	Amount in Rs.	Re	marks
1				4				5		6	and the second s
2	managan kutan digit kandiga managan bahas makaya managan mun di makaya ana ang			4.	A -						And the second s
3											and the second s
4	The second secon										The same of the sa
Total					And the second step in contrast of the second	The State of the S		and the second s	manufactures, confusion to commence of the second s	-	Million was national state of the control of the state of the control of the cont
Schedu	ile-8		The second secon			D. Contract of the Contract of	and the second s		- Andrews - Andr		
Contract of the second	of Lump sum am								The second secon	*********	The said of the sa
0.	vame of the Politi	cai Party	Date	Casl	1	DDAG					
12		The space of the s			•	details	heque no. etc. of drawee ban	with k	Total Amount	t in	
2			3	4		details	heque no. etc. of drawee ban	with k	Total Amount Rs.	t in	any
2 Parameter Control of			3	4		details	cheque no. etc.	with k	Rs.	t in	
				4		details	heque no. etc. of drawee ban	with k	Rs.	t in	any
				4		details	of drawee ban	with k	Rs.	t in	any
12				4		details	heque no. etc. of drawee ban	with k	Rs.	t in	any
				4		details	of drawee ban	with k	Rs.	t in	any
Fo	Tal 9		_ N	4		5	of drawee ban	k	6 · · · · · · · · · · · · · · · · · · ·		any 7
Fo	Tal 9	nt received I	_ N	4		5	of drawee ban	k	6 · · · · · · · · · · · · · · · · · · ·		any 7
Fo	Tal	nt received I	_ N	4	pany/firm/	associati	ions/body of pa	ersons	Rs. 6	lor	7 Jonation e
Po redule-	Tal 9		_ N	4	pany/firm//	associati eque no.	ions/body of pe	ersons of ther T	6 · · · · · · · · · · · · · · · · · · ·	lor	Jonation e
For an area of the second seco	Lump sum amou	3	from any person Cash	4	pany/firm/	associati eque no.	ions/body of pa	ersons of ther T	etc. as loan, gift otal Amount is.	tor of	donation e
Po redule-ails of Nan 2	Lump sum amoune and address	3	from any person Cash	4	DD/ Cheetc. with of drawe 5	associati eque no. details e bank	ions/body of pa Mention who loan, gift or donation etc.	ersons of ther TR	etc. as loan, gift otal Amount its.	tor on F	donation e
Po redule-ails of Nan 2 3 A A A A A A A A A A A A A A A A A A	Lump sum amoune and address  Yanta Khawa	3	from any person Cash	4	DD/ Cheetc. with of drawe	associative que no. details e bank	ions/body of pe Mention who loan, gift or donation etc.	ersons of ther TR	etc. as loan, gift otal Amount is.	tor on F	donation e
Po redule-ails of Nan 2 3 A A A A A A A A A A A A A A A A A A	Lump sum amoune and address	3	from any person Cash	on/comp	DD/ Cheete. with of drawe	associati eque no. details e bank	ions/body of pa Mention who loan, gift or donation etc.	ersons of ther TR	etc. as loan, gift otal Amount its.	tor on F	donation e



Deta	iils of expendite	tre incuma	The same is the same of the sa	20 200			The state of the s
St	Newspaper	er incurred of	n publishing crimic	al anteced	ents if any in		Edward W.
10.				Television	ents, if any in newsp	paper and TV C	hannel
	Name of						Mode of payment (electronic/cheque/DD
To CAST A AREA A AREA AND A STATE OF THE AREA AND A ST	Newspaper	Date of publishing	Expenses that may have been incurred (in Rs.)	Name of channel	Date & Time of insertion/telecast	Expenses that may have been	Cash) (Pl. specify)
			4	5	6	incurred (in Rs.)	
	and the transfer areas for any to resemblish in the significant and the contract of the significant and the contract of the co						8
Tal	mountains where a reference and reference to the second state of t		The same of the sa			-	

## Note:

1. In Schedule 5:-

(a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.

(b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.

2. In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ firm /associations/ body of persons etc. on behalf of the candidate, then the notional market value

3. In Part -III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds. should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.

4. Each page of the Abstract Statement should be signed by the candidate

\* In pursuance of Hon'ble Supreme Court Judgment dated 25.09.2018 in WP(C) No. 536 of 2011.



,असम ASSAM



31AA 525486

## AFFIDAVIT

# BEFORE THE DISTRICT ELECTION OFFICER, KAMRUP(R) ASSAM

# Affidavit of SMT. JUNMONI DEVI KHAUND Wife of Shri Jayanta Khaund

I SMT. JUNMONI DEVI KHAUND Wife of Shri Jayanta Khaund aged about 43 years resident of Flat No 300/B, Tribeni Complex, Adabari Tiniali, P.S.- Jalukbari, P.O.-Pandu, Guwahati-781012, Assam do hereby solemnly and sincerely state and declare as under.

- 1. That I was a contesting candidate at the general election of 2019 from No. 7 Gauhati Constituency, the result of which was declared on 23.05.2019.
- 2. That I kept a separate and correct account of all expenditure incurred by me, in connection with the above election between 03.04.2019 to
- 3. That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting voucher/bills mentioned in the said account.



অসম ধানা the account of my election expenditure as annexed hereto includes 525487 all items of election expenditure incurred by me, in connection with the election, and nothing has been concealed or withheld or suppressed therefrom.(other than the expense on travel of leaders covered by Explanations 1 and 2 under Section 77(1) of the Representations of the

5. That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred by me in connection with the election.

6. That the statements in the foregoing paragraphs (1) to (5) are true to the best of knowledge and belief, that nothing is false and nothing material

Identified by

umanth Kallah Helvo conte 17/6/19

DEPONENT

Solemnly affirmed/sworn by Sumanth Kakati, Advocate at Amingaon, this 17<sup>th</sup> day of June 2019 before me.

